Free question/Clicker Test:

Press the A button.

A: A

B: Don’t press B!  (or C, or D, or E)

OM-1

Test your transmitter and your ability to make order-of-magnitude estimates.  (Free question = full credit for any answer.)
How many gas stations are there in the US?

A) Less than 1,000

B) Between 1000 and 5000

C) Between 5000 and 50,000

D) Between 50,000 and 500,000

E) Between 500,000 and 10 million

OM-1

Test your transmitter with this free question = full credit for any answer.
What is the cost to put a one-pound (1 lb) payload into orbit with the space shuttle?
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A) $150

B) $500

C) $2000

D) $8000

E) $25,000

Test your transmitter with this free question:

What fraction of the entire world's supply of oil is consumed in the United States?

A) 5%

B) 10%

C) 20%

D) 40%

Test your transmitter with this free order-of-magnitude question:

About how many watts of electricity is the US using now?

A)  1 million watts = 106 W

B) 1 billion watts = 109 W

C) 1 trillion watts = 1012 W

D)  1 quadrillion watts = 1015 W

E) 1 gazillion watts = 10 a lot! W  

What, approximately, is the average density of the Earth?

A) 0.01 grams/cm3
B) 0.1 gram/cm3
C) 1.0 gram/cm3

D) 10 gram/cm3
E) 100 gram/cm3
How many liters of Scotch Whiskey are stored in warehouses in Scotland? 

(Hints: 1 liter = 1 bottle.  
Scotch is aged 12 years before being sold. 

If its not from Scotland, it’s not Scotch.)

A) 
300,000

B) 
3 million

C) 
30 million

D) 
300 million

E) 
3 billion

How many 10 kg plutionium fission bombs (40 kiloton weapons) could the US make per year using waste from our nuclear power plants?

A)  4

B)  40

C) 400

D)  4000

E) 40,000

What, approximately, is the chemical energy content of a gallon of gasoline? Recall: The energy to lift a 1 kg mass a height of 1meter is mgh = (1)(9.8)(1) ( 10 J.

A) 
104 J

B) 
106 J

C) 
108 J 

D) 
1010 J

What is the ratio of the energy in a gallon of gas to that in a gallon of beer?

A) 
3

B) 
7

C) 
15

D) 
30

E) 
70

What does the air in this room weigh?

A) 
50 lbs

B) 
500 lbs

C)
5000 lbs

D) 
50,000 lbs
My principal field of study is/was in the ...

A) Sciences

B) Humanities

C) Both


D) Neither


Can you speak more than one language?

A) Yes.


B) No.


How do you usually get to work in the morning?

A) Walk

B) Bicycle

C) Bus


D) Car

E) Other or I work at home.


Have ever seen either a tornado or a total solar exclipse?

A) Yes.


B) No.
What is your age?

A)
less than 10 yrs old

B) 10-20 yrs old

C) 
20-30 yrs old

D) 
30-40 yrs old

D) 
40-50 yrs old

D)
50-60 yrs old

D)
greater than 60 yrs old
Two point sources of light are imaged onto a screen by a converging lens as shown. The images are labeled 1 and 2. A mask is used to cover up the left half of the lens, as shown. What happens to the images on the screen when the mask is inserted over the left half the lens.
A: Image 1 vanishes 
B: Image 2 vanishes

C: Something else     happens.
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